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SECTION A (25 marks)

Question 1 to 5 carry 1T-mark each. Question 6 to 15 carry 2 ‘marks each. For
each question, four options are given. One of them Is the correct answer. Make
your choice (1, 2, 3 or 4). Shade your answer (1, 2, 3 or 4) on the OAS provided.

1. in 58 749, the digit in the thousands place is

(18
@7
(3)5
(@4 — , ( )

2. Round off 82 307 to the nearest hundred.

(1) 80 000
(2) 82 000
(3) 82 300
(4) 82 310 ( )

3. There are 7 donuts in a box. How many donuts are there in 302
boxes?

(1) 295
(2) 309

(3) 2114

(4) 2174 )
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4. When a ndmiber is divided by 9, the answer is 864. What is this

number? o
! s
(1) 96
T (2) 855
(3) 873
(4)7776

5. The sum _of 4280 cm and 2365 cm is

(1) 6645 m

(2) 6 m45cm

(3) 66 m 45 c¢m
" (4) 664 m 5 cm

What fraction of the above figure is shaded?

2
(1_) 3
H
(2) 5
1
(3} 3
|

4) 1

7. The table below shows the mass of three bags of rice.

Types of Rice Mass
Brown Rice 1350g;
Fragrant Rice 4 kg 50 g
Glutinous Rice 2kg

What is the total mass of the three bags of rice?

{(1)1802 g
(2) 5402 g
(3) 7400 g
(4) 7850 g
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8. Inthe diagram below, Line AB is parallel to Line ____

Pt & 2T
et i - - LA H

i

AN N

>
@]
m
®
e

(1)CcD
(2) EF ]
(3)GH

(4) JK

9. What is the missing number in the box?
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Subtract the sum of 2388 and 388 from the difference of
9400 and 94. '

(1) 3038
(2) 6530
(3) 6718
(4) 7494

Find the sum of afl the common factors of 18 and 27.

(119

(2) 12
(3) 13
(4) 26

When a tray of tarts was packed into boxes of 4, there would always
be 3 tarts left over. When the tarts were packed into boxes of 6,
there wouid also be 3 tarts ieft over. What was the least number of

tarts on the tray?

(1) 13
(2) 15
(3) 24
(4) 27

Mohan has 7 times as many stickers as Kim Seng. If Mohan has 126
- more stickers than Kim Seng, how many stickers do they have
altogether?

(1) 133
(2) 147
(3) 168
(4) 259
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~15. The rectangle below is not drawn to scale. Find the“area of the two
shaded triangles.

14 cm

(1) 22 cm?
(2) 44 cm?
- (3) 56 cm?
@ 1zem’ « )

SECTION B (40 marks)

Question 16 to 35 carry 2 marks each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. All diagrams are not drawn to scale. Aaswers in fractions must be
expressed in the simplest form. Marks will be awarded for relevant working.

16. Find the difference in the value of eighteen 20-cent coins and eight
two-dollar notes. Express your answer in cents

. Ans: cents

17. Tom saved $980 every month. How much did he save altogether in 15
> months? ‘

Ans: $
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Ans:

through the point C.

O

20. How manyright angles can you find within the figure below?

-

Ans:

18. Whatis the p'erimeter of a square that has an area of 144 cm?® ?

g

Page 6 of 16

s Fateyts ey L -

cm

19. Using a ruler and a set-square, draw a line parallel to the given line, AB

right angles




21. Amy is facing North-Egsut:_l_f she makes % of a complete tum

to herléf, in which difection would §he be facing? iz < SRR
N
W E
S

Ans:

22. Asrange the given fractions below in ascending order.

i6
.

t

M |
o | oo

Ans;

23. % of the pupils in the class wear spectacles. There are 27 pupils in the

class. How many pupils in the class wear spectacles?

Ans: pupils
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24. Round off the sum of 68909 aﬁd 8909 to the nearest thousand. ...

Ans:

25. 45507 =40 000 + 5007 +

_ ‘What is the missing number?

Ans:

26. Mr Tan had 48 cartons of apples. There were 100 apples in each carton.

He repacked all the apples into bags of 8. How many bags of apples were
there? ’ -

Ans:

27. The perimeter of a rectangie is 112 cm. its length is 3 times its breadth.
find the breadth of the rectangle.

Ans: ) cm
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. 28. Find the shaded area of the figure shown below. .

Ans:

cm

29. In the figure below, name a pair of perpendicula( lines.

D .

Ans:

- 130 How many more rectangles must be shaded so that %of the figure is

shaded?

Ans:
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31.

Add 62 fo l5 Leave your answer as an lmproper fra@ﬁoﬁ '

Ans:
32. -Mrs Goh bought SE litres of paint. She used 2— litres of.itto paint her’

" wall. How many litres of paint had she left ?

Ans: litres

33. What is the missing number in the pattern below?

42865 , 42876, 53876, ., 64887

Ans;
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abw T2

Ina bookstore there are 100 books = of the bookssaréfhove]s and ’i Lof

En TG v

v the rest are comic books How many comlc books are there‘?

Ans: comic books

Selina has a mass of 20 kg. Her sister weighs 2?} kg less than her. What is

the total mass of the two sisters? -

Ans: kg
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SECTION G35 marks) :. ..,

For question 36 tb"”ﬂ,'shdﬁ’?‘é’t’i’r%‘l’krﬂy Clearly ni'the space provided:below
each question and write your answer with suitable units in the spaces provided,
All diagrams are not drawn to scale. Answers i fractions must be expressed in
the simplest form. Marks will be awarded for relevant working. The number of
marks available is shown in brackets [ ] at the end of each question or part-

question.

36. Mei wants to buy a cupboard and a sofa from a fumiture shop. The cupboard
costs $138. The sofa cost 5 times_as much as the cupboard. She decides to
- buy two cupboards and a sofa. Howsmuch does she have to pay? '

) ] . )\nsz iBI

Janet bought 4m of string. Mary bought % m of string less than her. How

many metres of string did they buy altogether?

Ans:- 13]
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38. $2860; was shared {imong Adam .Bob ,gnd Chris. Adam recewqd,§120_m9§e -

than Bob ~Chris. {ecea(ed g]e sal;?e ampu i as what Adamcc nd Bob *ce ed
altogether How muc moneyd Chns recelve? o ‘* .= U -t

39. Mr Soh pasted a picture measuring 20 cm by 10 cm.onto a‘rectangutar
cardboard leaving a 2-cm wide border all round it. Find the area of the
cardboard not covered by the picture.

ANs: « {4}
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40, W& CENBIRSE as Nl G ilh et ighisd 4900 AR v

three-quarter filied Wittfﬁéitéir;‘:‘fﬁﬁeiijﬁéd‘ 7159 Find thé"Weight'sf the tontainer
whenitisempty, .. 7 7P T e eraT Vi, oadeneme
- Ans: j&]'

Susan had 50 sweets. James had % of the number of sweets that Susan had.

(a) Find the total number of sweets that they had altogether.
(b) if they packed the sweets into bags of & and sold each bag for $1.10,
find the amount of money they collected from the sale of the sweets.

[ ]
Ans: (a) [2]
(b) 2
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42. 4 bags of barley and 6 bags of rica cost $92.4 bags of. bartey. and 8 bags of
rice cost $1 36 Fmd the cost of three bags ™ ofﬂce.‘; 3G SR AT # it

]

43. There were 3 alarm clocks in the room. The 1% clock beeped every
12 minutes, the 2 clock beeped every 8 minutes and the 3 clock
beeped every 6 minutes. If they first beeped together at 7.00 a.m.,
what time would they next beep logether again?

Ans: [4]
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44. “The figures below:are not drawn fo- scale Fi gureA has the same area as
ﬁgure B Find the perimeter‘of figure.B.~

KR EIPN

Area = 118 cm?
7 cm
=} 10 cm
_ Figure A - Figure B
2 cm
Ans: [5]

-End of Paper-
Please check your work carefully ©

Setters: Ms Leong Oon Ho
Ms Suhana
Ms Florence Kong
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e g@ﬂcm =200c,
6c'“ “*209cmz—136cmz

41)a)3/10x50/1=15
50+15=65
b)65<+5=13
13x$1.10=$14.30
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42)2R=$13

6_

->24 minutes later >Z7:94g

Eie

of B= 11+9+11+10+2410;
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